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Example:
If z=1.96, then
(0 to 2)=0.4750
Z 0 1.86 B
z 0.00 0.01 0.02 0.03 0.04 0.05 0.08 0.07 0.08 0.09

0.0 0.0060 0.0040 0.0080 0.0120 0.0160 0.0198 0.0239 0.0278 0.0319 0.0359
0.1 0.0358 0.0438 0.0478 0.0517 0.0557 0.0598 0.0836 0.0675 0.0714 0.0753
0.2 0.0783 0.0832 0.0871 0.0810 0.0948 0.0887 0.1026 0.1084 0.3103 0.1141
0.3 0.1178 0.1217 0.1255 0.1283 0.1331 0.1368 0.1408 0.1443 0.1480 0.1517
Q.4 0.1564 0.1591 0.1628 0.1664 01700 01730 01772 0.1808 .1844 0.1879

0.5 0.1818 0.1950 0.1985 0.2019 0.2054 0.2088 0.2123 0.2157 0.2190 0.2224
0.8 0.2267 0.2291 0.2324 0.2357 0.2389 0.2422 0.2454 0.2486 0.2517 0.2548
0.7 0.2580 0.2611 0.2642 0.2673 0.2704 0.2734 0.2764 0.2794 0.2823 0.2852
0.8 0.2881 0.2810 0.2939 Q.2967 0.2998 0.3023 0.3051 0.3078 0.3106 0.3133
08 0.3159 0.3188 0.3212 0.3238 0,3264 0.3289 0.3315 0.3340 0.3365 0.3389

1.0 0.3413 0.3438 Q.3461 (.3485 3508 0.3531 0.3554 0.3577 0.3589 0.3621
1.1 0.3643 0.3665 0.3686 0.3708 0.372¢9 0.37489 0.3770 0.3790 G.3810 0.3830
1.2 0.3848 0.3868 0.3888 0.3907 0.3825 0.3944 0.3862 0.3980 0.3997 0.4015
1.3 0.4032 0.4049 0.4068 0.4082 0.4089 0.4115 0.4131 G.4147 0.4162 Q.4177
1.4 0.4182 0.4207 0.4222 0.4236 0.4251 .4265 0.4279 0.4292 0.4306 0.4319

1.5 0.4332 0.4345 0.4357 0.4370 0.4382 0.4384 0.4408 D.4418 0.4429 (.4441
1.6 (.4452 0.4453 0.4474 0.4484 0.4495 0.4505 0.4518 0,45258 0,45385 Q.4545
1.7 0.4554 0.4564 0.4573 0.4582 0.4501 0.4598 0.4608 0.4618 (.46825 0.4633
1.8 0.4641 0.4649 0.4656 0.4664 0.4671 0.4878 0.4686 0.4893 0.4699 0.4708
1.8 0.4713 0.4719 0.4728 0.4732 G.4738 0.4744 0.4750 0.4756 0.4761 0.4767

2.0 0.4772 0.4778 0.4783 0.4788 0.4793 0.4798 0.4803 0.4808 0.4812 0.4817
2.1 0.4821 0.4826 0.4830 0.4834 0.4838 0.4842 0.48486 0.4850 0.4854 0.4857
22 0.4861 0.4864 0.4868 0.4871 0.4875 0.4878 0.4881 0.4884 0.4887 0.4880
2.3 0.4893 0.4896 0.4898 0.4901 0.4804 0.4806 0.4809 0.4911% 0.4913 Q4918
2.4 0.4918 0,4820 0.4922 0.4925 Q.4927 0.4923 0.4831 0.4832 0.4934 0.4936

2.5 0.4838 0.4840 0.4841 0.4943 0.4945 0.4945 0.4948 0.4949 0.4951 0.4952
2.6 0.4953 0.4955 0.4956 0.4957 0.40509 (.4560 0.4961 0.4962 0.4083 '0.4864
2.7 0.4885 0.4068 0.4887 0.4068 0.4869 0.,4870 0.4871 0.4972 0.4973 0.4974
2.8 0.4874 0.4875 04878 0.4977 0.4977 0.4978 0.4879 0.4979 0.4980 0.4981
2.9 0.4981 0.4882 0.4982 0.4882 (.4384 0.4984 0.4985 ©.4985 0.4986 (.4986

3.0 0.4887 0.4987 G,4887 (.4588 0.4688 0.4589 0.4989 0.40989 0.4980 0.4990
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Example: With

df =9 and .10 area
in the upper tail,
t=1.383



it 52141630
F=x:7-5

sy = . +
T = -)(27&

Example: With 17
df and a 0.02 area in
the upper tail,X?=30.995

Degrees of Right-Tall Area
Freedom,
df 0.10 0.05 0.02 0.01
i g 2.706 3.841 5412 6.635
2 4.605 5.991 7.824 9.210
3 6.251 1.815 9.837 11,345
4 1.779 9.488 11.668 13.277
5 9.236 11.070 13.388 15.086
6 10.645 12.592 15.033 16.812
7 12.017 14.067 16.622 18.475
8 13.362 15,507 18.168 20.090
9 14.684 16.919 19.679 21.666
10 15.987 18.307 21.161 23.209
1 17.275 19.675 22.618 24.725
12 18.549 21,026 24.054 26.217
13 19.812 22.362 25.472 27.688
14 21.064 23.685 26,873 29.141
15 22.307 24.996 28.259 30,578
18 23.542 26.296 29,633 32.000
17 24.769 21587 30.995 33.409
18 25989 28,869 32.346 34.805
19 27.204 30.144 33.687 36.191
20 28412 31.410 35.020 37.566
2 29.615 3267 36.343 38.932
22 30.813 33.924 37.659 40,289
23 32.007 35172 38.968 41,638
24 33.196 36.415 40.270 42.980
25 34,382 37.652 41.566 44314
26 35.563 38.885 42.856 45,642
27 36.741 40113 44,140 46.963
28 37.916 41.337 45.419 48.278
29 39.087 42557 46.693 49.588
30 40.256 43.773 47,962 50.892
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wEw L F £

0 F,
vi(df) o =0.025
va(df) 1 2 3 4 5 6 7 8 9
1 647.79 799.48 864.15 899.60 921.83 937.11 948.20 956.64 963.28
2 38.51 39.00 39.17 3925 3930 39.33 3936 3937 3939
3 1744 16.04 1544 15.10 14.88 14.73 14.62 1454 1447
4 1222 10.65 9.98 9.60 9.36 9.20 9.07 8.98 8.90
5 10.01 8.43 7.76 7.39 7.15 6.98 6.85 6.76 6.68
6 8.81 7.26 6.60 6.23 5.99 5.82 5.70 5.60 5.52
7 8.07 6.54 5.89 5.52 5.29 5.12 4.99 4,90 4.82
8 7.57 6.06 542 5.05 4.82 4.65 4.53 4.43 436
9 7.21 571 5.08 4.72 448 4.32 4.20 4,10 4,03
10 6.94 5.46 4.83 4.47 4,24 4,07 3.95 3.85 3.78
11 6.72 5.26 4.63 428 4.04 3.88 3.76 3.66 3.59
12 6.55 5.10 4.47 4,12 3.89 3.73 3.61 3.51 3.44
13 6.41 4,97 4.35 4.00 3.77 3.60 3.48 3.39 331
14 6.30 4.86 4.24 3.89 3.66 3.50 3.38 3.29 321
15 6.20 4.77 4.15 3.80 3.58 341 3.29 3.20 3.12
16 6.12 4.69 4.08 3.73 3.50 3.34 322 312 3.05
17 6.04 4.62 4.01 3.66 3.44 3.28 3.16 3.06 2.98
18 5.98 456 395 3.61 3.38 3.22 3.10 3.01 2.93
19 5.92 451 3.90 3.56 333 3.17 305 296 288
20 5.87 4.46 3.86 3.51 3.29 3.13 3.01 291 2.84
21 5.83 4.42 3.82  3.48 3.25 3.09 2.97 2.87 2.80
22 5.79 4.38 378 344 322 3.05 2.93 2.84 2.76
23 5.75 4.35 3.75 341 3.18 3.02 2.90 281 2.73
24 5.72 4.32 3.72 3.38 3.15 2.99 2.87 2.78 2.70
25 5.69  4.29 3.69 335 3.13 2.97 285 275 2.68
26 5.66 4.27 3.67 3.33 3.10 2.94 2.82 2.73 2.65
27 5.63 4.24 3.65 3.31 3.08 2.92 2.80 2.71 2.63
28 5.61 4.22 3.63 3.29 3.06 2.90 2.78 2.69 2.61
29 5.59 4.20 3.61 3.27 3.04 2.88 2.76 2.67 2.59
30 5.57 4,18 3.59 325 3.03 2.87 2.75 2.65 2.57
40 5.42 4.05 3.46 3.13 2.90 2.74 2.62 2.53 2.45
o0 5.29 3.93 3.34 3.01 2.79 2.63 2.51 241 233

120 515 380 323 289 267 252 239 230 222
oo 502 369 312 279 257 241 229 219 21l
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P =X 77

F 4
0 E,
vi(df) a=0.05
va(df) 1 2 3 4 5 ] 7 8 9
1 161.45 199.50 215.71 224.58 230.16 233.99 236.77 238.88 240.54
2 18.51 19.00 19.16 19.25 1930 1933 1935 1937 19.38
3 10.13 9.55 9.28 9.12  9.01 8.94 8.80  B.85 8.81
4 7.71 694 659 639 626 6.16 609 604 600
5 6.61 5.79 541 5.19 505 495 - 488 482 477
6 5.99 514 476 453 439 428 421 415 410
7 559 474 435 412 397 387 379 373 3.68
8 532 446 407 384 3.69 3.8 350 344 339
9 512 426 386 363 348 337 329 323 318
10 496 410 3.71 348 333 322 314 3.07 3.02
1i 484 398 359 336 320 3.09 3.01 295 290
12 4.75 3.89 349 326 3.11 3.00 291 2.85 280
13 4.67 381 3.41 3.18  3.03 292 283 277 271
14 460 374 334 311 296 285 276 270 265
15 454 368 329 306 29 279 271 264 259
16 449 363 324 301 285 274 266 259 254
17 445 359 320 29 281 270 261 255 249
18 4.41 355 316 293 277 266 258 251 246
19 4.38 352 313 290 274 2.63 254 248 242
20 435 349 310 287 271 260 251 245 239
21 4.32 347 307 284 268 257 249 242 237
22 430 344 305 282 266 255 246 240 234
23 4.28 342  3.03 280 264 253 244 237 232
24 426 340 3.01 278 262 251 242 236 230
25 424 339 299 276 260 249 240 234 228
26 4.23 337 298 274 259 247 239 232 227
27 4.21 335 296 273 257 246 237 231 2.25
28 420 334 295 271 256 245 236 229 224
29 4.18 3.33 293 270 255 243 235 228 222
30 4.17 332 292 269 253 242 233 227 221
40 4.08 3.23 2.84 261 245 234 225 218 212
00 4.00 3.15 276 253 237 225 217 210 2.04

120 392 3,07 268 245 229 218 209 202 196
co 384 300 260 237 221 210 2.01 1.94 188




